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M. A. (ECONOMICS) (MEC)
Term-End Examination

June, 2021

MEC-004 : ECONOMICS OF GROWTH AND
DEVELOPMENT

Time : 3 Hours Maximum Marks : 100

Note : Answer the questions from both Section as
directed.

Section—A

Note : Answer any two questions from this Section.
2x20=140

1. Explain the Harrod-Domar model. In what
respects the Solow model is an improvement

over the Harrod-Domar model ?

2. Explain the rationale behind micro-level
planning. Critically discuss the various

planning models.

P.T.O.
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3. Discuss Kaldor’s model of economic growth. In
what way 1s Pasinette’s model of growth

different from that of Kaldor ?

4. “Terms of trade of developing countries tend to
decline over time.” Critically examine the

statement.
Section—B

Note : Answer any five questions from this Section.

5x12=60

5. Explain the concept of Gini coefficient. How is it

useful in economics ?

6. Critically examine the theory of critical

minimum efforts of Leibenstein.

7. What is meant by technical progress ? How is it

measured ?

8. Explain the basic tenets of Harris-Todaro

model. How relevant is the model today ?

9. Explain why the rate of profit has a tendency to

decline in the Marxian model.



10.

11.

12.
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Explain the concept of market failure. Can the
government also fail ? Illustrate your answer

with appropriate examples.

Bring out the major features of demographic
transition. Why do developing economies need a

population policy ?

Write short notes on any two of the

following :

(a) Vicious circle of poverty

(b) Millennium development goals

(¢) Social cost and private cost

P.T.O.
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